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(%&):@-%g-mwrs

2
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3. a(y-3)+4(3-y) & JdsEalctH?

D -(y+3)(a+4) @ (y+3)(a+4)
® 4a(y-3) @ 0-3)a-4)
® (y-3)(a+4)
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a=V3+3,b=5-V2,c=4

D a<b<c @ b<a<c @b<c<a

@ c<a<b ® c<b<a

b—c=(5-V2)-4=1-4V2<0,b<c
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3V3+1=V274+1%6.---
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2V7—1=+V28-1=4.---
42 -1-(2V7T-1) =4V2-2+7
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O|ER 442 -1>2V7-1
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F7H Y Aok = 4v2 -1 o]t
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=-4-6+a=-10+a
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o A = (S22) 4 (222)

() ()

=3+2=5
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x% - 3xy+y? = (x+y)? - 5xy
= (3V2)2 - 5x5
=18 -25=-7
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o] 32 stofeh
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ak? + bk = —4 o]|BL&2
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(x? +2x)2 = 5(x* +2x) - 14=0,

x4+ 2x=A 2 XgolH

A2-5A-14=0,

A+2)(A-T7)=0,

(> +2x+2)(x*+2x-7) =0,

¥ +2x+2=09 F g -2,

x> 4+2x-7=09 F 29 % -2,

ohEbA] BE 2] F2 (-2) + (-2) = -4 °]th
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® 10 @ 15 3)20 @ 25 ® 30

x?2-6x-16=0 9 F &= p, g =4
p+q=6, pg=-16
PP +3pg+q* = (p+q)°+pq
—62-16
= 36— 16 = 20
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y=3x*-12x+1
=3(x*-4x+4-4)+1
=3(x-— 2)2 -11
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OIEE p = —8, q = _3 O]I:]-'
L p-qg=-5
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A (0, -2) E AUE=

=

1
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1
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La=-g. p=-3¢=1 ojmz
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21. o2 o]APYA A x2 - 2ax + a? —10—040H7}x—7+@<331[q1’ab
o] 3H& otolat,

x2 —2ax = —a® + 10

x?—2ax+a® =-a®>+10+a® =10
(x—a)? =10 0|22

x—a==+V10

Lx=a=x V10

w2tA a =7, b =10 °|2& ab = 70 ©]t}.
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V5 -2
o3t Alg=ke] A A
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La=-5
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b2 — 4ac
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(=2) x5
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—ax — §a =0 o|th.
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w2tA ax? + bx + ¢ = 0 oA ax?

dHd g+ 00|22

2x2 +3x-5=0

=0

(2x+5)(x-1)




